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Question 1

QLOMEgm 2obBo®mEgds: 30690530308 A0MOMOE 5TM3BL HoMTmobu......
Select one:

a. bbgwaolb dmdMsmdol dglfogams

b. bbgm@wol go@ssa0gdol dgLfogens

C. bbgmaol 8¢ogdstmgmdols gsblsbmg®ms LogmEgdo Mmool bgdoldog® dmdgbddo

d. bbgmeol 35@00a0wgd0lL 25blsbgMs OHMOL 69doldog® dmdybEHdo

Question 2

99LodE9dg0s, M) Mo BoESMYdYI0 A5630boM®m o gMosw® ( 6ogmogH
) §9OGH0o© 09) 030 3MAMMBL OO JogsJosb 3gm®9gdo?

Select one:

a. d90dgds
b. 56 990degds

Question 3

Lbgmeol 3gds®gmds LogMEgdo babosmM©Yds ...( 0GR ghHmo 3sLvgbo ).
Select one:

a. 30m60BsGIBOM

b. §obsgzewgdom

C. 2963000 3363000

d. Goovl-ggd®mGom

Question 4
3900560305, 009 3OO

"Bobgadsl, MmIgedos 899535000 Lbgwagdo MMM Jdggd9b
9030356900096 @O 56 MOHP0gHNJI)I09b 2569dg LbgMgdmb ghmegds
0bmEoMgdmo ( BsggEHowo ) Lob@gds."

Select one:

c a. 393050030

b. a0
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Question 5

5309031600 LoOY, HMIgEoa HoMdmowygbl Lbgmwrol 0bgemiEoo ©s

309303930990 M30l90900L BMAsls SMOU ...
Select one:

a. dsbo

b. dsews

C. fmbs

d. LoBdsty

Question 6

ST-50b#90580 39BomdOl GHMGMO0S. ..
Select one:

a. 9620

b. omEmbo

c. .59

d. xmywo

€. 3590

f. obo

Question 7
LOMEgm Fobdo®mEgds:mHg30L 39MH0MEO MHOL MM, Mol
39633¢00mdsdo LOYEIOS ...

Select one:

a. mOo LOYEOo MHY3s
b. Lsdo LEMEWo Gbggzs
C. bmmo Leamo Gbgzs
d. gohmo Lemwo Mbyzs

Question 8

Q3LOMEgm gobo®mEgds: Mbg3z0L 5330EMS SMOU. ..
Select one:

a. §mbsbfmmmdol degdsmgmdoEsb gosb®mol bydmswm dbodzbgumds
b. Gmbolfimmmdol 8gdsmgmdo©sb »Iz0Malo FossbGmol 360936gMds

C. fbsbfieadmdol 9ymdotgmdosb MoIlo 35sbMOL sdBMEMEMMo 360d3bgwmds

d. §mbslffemmmdol 3egdsMgmdoEb 3osbGol 3603369Mmds
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Question 9

993996~ 30693H0360 9Ol Bogmdzws® g3l ------- doMHOMOO
QIOILYRo.

Select one:
a. mombo
b. 9®mo
C. bsdo
d. m6o
Question 10
bbgmegdol 998500969 Bofioes3gols dmmols dmddgqdl dobogzols o
396B030L doegdo s gl dEgd0 F0MOMOPIE JegdEOo B6gdOLYS.
Select one:
True

False

Question 11
391505890 9MMBgPL BoBOIMNMO LOWOPYJO0 O FoEBMT0EGd9d0

(960gmgdo).

3ob3owo (6/32) Answer 1 Sheose- |
BowEmbo (6) Answer 2| Choose... j
993®0-Fs8d0 (8/9) Answer 3| Shoose-. |
39Ol GO (Cﬂ) Answer 4| Choose... j
379060 dgBeo (93) Answer 5 Shose.. |
Question 12

3990500305, 09 9300500 "9Mm93Mwgd0L 2oESBomo dMIGMdOL
Bodmom 3069303600 9bgMyos M30090I0s dbMmwm 3H9a39MoEwemsdy,
LobgeEMdG 306HESOM3MM3MOEFOE0s VLMWMEMOO 3gd3gMaEMOL. "
Select one:

True

False

Question 13

Q3LOMEgm gobo®mEgds: gegdBHMMUESGH03M0 39wo...
Select one:

a. 5MOLYOMBL Fsx3boEHHIMO OLMOL QoMTGIM


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5E2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C%5E0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5E3
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b. 8948600s 9IGe30 gargdBHOHMo dMbEH0m
C. d94dbocros dmd®s30 gegd@®eo dMbEom
d. 56bgdMdL gegd@®Eo ©gbol AsM3gdm

Question 14

395935693 mdol dobgzo0m Bbgergdo 0g4mas... Xy IBOO.
Select one:

a. o6

b. L3

C. mob

d. bro

Question 15

5LMIgm Q30N FH0S: Je9dBHOMMLEEGH03MOO 3900

Select one:

a. obgMEomwo

b. 3m®9bgoswmeo
C. 365303530790
d. a0y Mc0

Question 16
3900560305, ) 300500
30600000 J00YdE0s,60Hmd IMbEH0IL MBslOME ITMMGOME FgOEHowdo

3mEbE0swo Brmols Gmnmos. Gmgs T —* 00, 85906 ¥ -
Select one:
True

False

Question 17
LHOo ©gbol dogbod o dsefiomgdo 4sdmoliabgds. ..

Select one:

a. 3mb3gbGHOwo fMmgfomgdom, 306G®0m ©gb0osb god@ o0y
b. ©960560 359EHMOL 29059339000 FoMgdoom

C. 3mb6396¢Omwo foHgdom

d. ©60560 3s3BHMOL 3oMaEgE®o ORI


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=r%5Cto%5Cinfty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi%5Cto%200
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Question 18
$9905003H05, 09 9300500: "bgsolbgedmelinsbo dsgbo@gdo gMmIsbgmls
300b0@s396" .
Select one:
True
False
Question 19
390G gbols sdLMEE Mo d5B3969d9w0 2430P3969dL. ..
Select one:

a. LObIMEEOL Y930 3ggdoL LoBJstgl 3534930

b. ®3096x96 89305 LOBsMOL F93ME39EdoL LoBJseg BmEgdwen 25699mIo Lobsmeol
23930390900l LoBdsMgbg 3539080

C. ©50009bxgM 653cg005 LObsMEOL A53M(3909d0L LohdsMg dm39dEe doMgdmdo Lobsmerols
23930390900l LoBdstgbg 3539380

d. LoBsPWOL Fo3ME39gdoL LoBJsGgL dmEgdwyen AsM99mIo

Question 20
3900560305, ) 93005600 :80(399990 356MH9IML F9MoGgbol dob396909el 353494990l
900500 5MEIHoL BsMMdomO F5B3969d9wo 9fimgds.

Select one:
True

False

uestion 21
g)googﬁ)cgmﬁ)@ob (3530 259my96909e0 0ym...( 8mbodbgm @sdmynbgdye
HgELHYMms GOHOMOOMDS )
Select one:
a. ©5©05J3H0M0 259mlb0oggdoL Hgostm, o0sxMsds, 930960 s MJHML Mbgwo BoOBROEG.
b. 3bmem© ©osBMsds s 93660
C. Bbrwno d6mb mbgmo Gotsods
d. Bbmemo G35005dEH0mG0 35dmlbboggdols Fyste

Question 22
50096 3LEAMBHL ( 5339050 ) 99HOLEMBS dMGOL MYMMOS?

Select one:
a. LoLdL
b. m&L



C. mobl

~
d. bl

B S S I

Question 23
3oL 5EOEOOMBOL 3M0BEO30L MabsbTo®, OHMIgos LHmMO 6dsMEHGds?

Select one:

a. bbgmems LobEgdob dsbs BHMEos (3939w Bbgoems dsligdol xsdols
b. Lbgmems LobEgdol Tsbs 653¢gB0s 3939 Lbgryems doligdol xs0%
C. bbgmoms Lolgdol dsbs dg@os 39e3gwer Bbgoems dsligdol xsdby

d. bbgmemos bobBgdol dsbs Gmeos dslgdols xsdol

Question 24
F- ds¢ools 3096 99L6r9emgdegano 33smds 25300Lsbgds 53m®d«emoo. . .
Select one:

_ (F
N A= (l&r)hlﬂﬂ

c oy A= (%) COS v

“ A= FArsina
“ 4. A= FArcosa

B RS B RS

Question 25
MH930L 396M0MPO ASTIMOMNZWYds BMOHINWOm:

Select one:

a = QTTL:.-‘.[].
—_—

b. T=

2
_ 2

C Lahiy

. — Wi
. T =%

Question 26
39155058900 B0H03MO 390390 Fo00 OLOIHBY0gdO,

R Answer 1| Choose... -]

K Answer 2| Choose... E

Napnswer 3| Soese- =l
Question 27
Lbgmeo dmdcsmdl 10 /(3 LoRJsGom. Gmym®o 0d69ds dobo Lokds®g 38/l —

903807 (39380 Bagm Fbmewmo Gosbgo 395690l LobmbEom. dog: 1.23)



http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cleft%28%5Cfrac%7BF%7D%7B%5Ctriangle%20r%7D%20%5Cright%20%29%20%20%5Csin%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cleft%28%5Cfrac%7BF%7D%7B%5Ctriangle%20r%7D%20%5Cright%20%29%20%5Ccos%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3DF%20%5Ctriangle%20r%20%5Csin%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3DF%20%5Ctriangle%20r%20%5Ccos%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D2%5Cpi%5Comega_0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D%7B2%5Cpi%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B2%5Cpi%7D%7B%5Comega_0%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N_A

Answer:|

Question 28
10 33 35L0L Lbgremo ms30Lbva3ws© 356M@Yds 6 8 LoBsEEOEB. GHolo GHMEos

103300l dserols 3MPomds? ( g=10 9/(32) (3gwdo RsfgMgm Fbmemo Gosbzo
395L9@0L LOBMLEm. doy: 1.23)

Answer:|

Question 29

030390 3509353032900 J56Jo65L Log®dyg, 0v) Jobdotsls Gbgzol 3gMomoo
T=5.6 {0-b. g =1008/%32 ( 39edo BsHgMgo FbMeMmE Gogbgo. oy 1.234
).

Answer:|

Question 30

5060 355mdIL 8.5 g4Momlom 3vdogo (6930l 30HMBYdT0, MOl F9EYRS©
dolbo IMEEMds 350BMEs Lofigolo ImEemdol 10%-om. M5 Fgd3geo@es
3Jmb@s 50Ol 350dMd3©9? ( 39edo Bofig®go dbmermo Gogbgo. doy: 1.234)

Answer:|

Question 31

29500mm35gm dsd30L 35MEbs R = 25 3 §obsmmdsby, mvy dslido gool 25
533960 6oL dsews. ( 3gedo RsfgMgm dbmemo Gogbgo. dsy: 1.234 )

Answer:|

Question 32

03m39m 353b0GH Mo 6535000 S = 6 2 goOmMMdTo, v B = 9 @Hgbewsl beagom
3nobg 35360EHOH0 060MJ300L 39dBHMOLs S S Hga3oMol MMl JnMol
60 4m50MLos. (3980 RsfgMgom dbmemo Gogbgo. dsy: 1.234)

Answer:|

Question 33

03M390 ©53990L 3MMbol Lobmlo, 0 N=1.33,beEM oMEsEHIHOL 3Momby
60 gMoLos. (3980 RsfgMgm Fbmemo Gogbgo. 0sy:1.234)

Answer:|
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